

			Engin	eer's Estimate	(1) Gentry Brothers, Inc.		(2) Sully-Miller Contracting Company		Inc.		(4) Sequel Contractors, Inc		
(1) Pr	eliminary Bid Amount						\$4,208,250.74		\$4,422,555.47		\$4,423,864.00		\$4,499,110.45
(2) Ur	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
1	CONSTRUCTION	1	\$5,000.00	LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
	SCHEDULE (BASELINE)												
	(STIPULATED UNIT PRICE OF \$5.000)												
2	CONSTRUCTION	6	\$500.00	МТН	\$3,000.00	\$500.00	\$3,000.00	\$885.00	\$5,310.00	\$500.00	\$3,000.00	\$300.00	\$1,800.00
_	SCHEDULE (UPDATE)	Ũ	\$000.00		\$0,000.00	\$666.66	\$0,000.00	\$000.00	\$0,010.00	4000.00	\$0,000.00	4000.00	ψ1,000.00
3	PREPARATION OF THE	1	\$5,000.00	LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
	SWPPP (STIPULATED UNIT												
	PRICE OF \$5,000)		<u> </u>		A (F A A A A	<u> </u>	<u> </u>	<u> </u>	AT 000 00	<u> </u>	.	<u> </u>	<u> </u>
4	IMPLEMENTATION OF THE SWPPP	1	\$15,000.00	LS	\$15,000.00	\$10,000.00	\$10,000.00	\$7,900.00	\$7,900.00	\$12,500.00	\$12,500.00	\$150,000.00	\$150,000.00
5	CITY PERMITS	5000	\$1.00	AL	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
Ŭ	(ALLOWANCE OF \$5,000)	0000	ψ1.00	/\L	ψ0,000.00	φ1.00	<i>\</i> 0,000.00	φ1.00	φ0,000.00	ψ1.00	φ0,000.00	ψ1.00	φ0,000.00
6	CLEARING AND GRUBBING	1	\$10,000.00	LS	\$10,000.00	\$135,000.00	\$135,000.00	\$18,600.00	\$18,600.00	\$150,500.00	\$150,500.00	\$120,000.00	\$120,000.00
7	TRAFFIC CONTROL	1	\$30,000.00	LS	\$30,000.00	\$160,000.00	\$160,000.00	\$81,000.00	\$81,000.00	\$50,000.00	\$50,000.00	\$155,000.00	\$155,000.00
8	OFFICE FACILITIES	1	\$30,000.00	LS	\$30,000.00	\$60,000.00	\$60,000.00	\$29,000.00	\$29,000.00	\$10,500.00	\$10,500.00	\$16,000.00	\$16,000.00
9	MOBILIZATION		\$100,000.00	LS	\$100,000.00	\$160,000.00	\$160,000.00	\$109,000.00	\$109,000.00	\$205,300.00	\$205,300.00	\$300,000.00	\$300,000.00
10	ROOT PRUNE TREE (INCL	30	\$300.00	EA	\$9,000.00	\$375.00	\$11,250.00	\$443.00	\$13,290.00	\$500.00	\$15,000.00	\$400.00	\$12,000.00
	ROOT CONTROL BARRIER)	000	\$400.00	01/	* 00.000.00	* ^^ ^	# 11 000 00	\$400.00	*7 4 004 00	*5000	*0 4 400 00	#455.00	<u> </u>
11	CONCRETE REMOVAL (NON-REINFORCED)	688	\$100.00	CY	\$68,800.00	\$60.00	\$41,280.00	\$108.00	\$74,304.00	\$50.00	\$34,400.00	\$155.00	\$106,640.00
12	UNCLASSIFIED	2802	\$40.00	CY	\$112,080.00	\$50.00	\$140,100.00	\$38.00	\$106,476.00	\$30.00	\$84,060.00	\$100.00	\$280,200.00
12	EXCAVATION	2002	φ+0.00	01	φ112,000.00	φ00.00	φ140,100.00	φ00.00	φ100,470.00	φ00.00	φ04,000.00	φ100.00	φ200,200.00
13	TRENCH BACKFILL SLURRY	3	\$300.00	CY	\$900.00	\$150.00	\$450.00	\$306.00	\$918.00	\$500.00	\$1,500.00	\$500.00	\$1,500.00
	(CLASS 270-E-500)					-		-			. ,		

Engineer's Estimate				(1) Gentry	(1) Gentry Brothers, Inc. (2) Sully-Miller Contracting Company			(3) Los Angele	s Engineering, Inc.	(4) Sequel Contractors, Inc.			
(1) Pr	eliminary Bid Amount						\$4,208,250.74		\$4,422,555.47		\$4,423,864.00	\$4,499,110.45	
(2) Ur	nit Price Detail												
Ìtém	Description	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
14	CEMENT STABILIZED PULVERIZED BASE, 8" THICK	84372	\$4.00	SY	\$337,488.00	\$4.00	\$337,488.00	\$5.00	\$421,860.00	\$4.50	\$379,674.00	\$3.20	\$269,990.40
15	PORTLAND CEMENT FOR CSPB	1645	\$100.00	TON	\$164,500.00	\$125.00	\$205,625.00	\$130.00	\$213,850.00	\$126.00	\$207,270.00	\$120.00	\$197,400.00
16	PRIME/TACK COAT FOR CSPB	16874	\$1.75	GAL	\$29,529.50	\$3.00	\$50,622.00	\$4.00	\$67,496.00	\$1.00	\$16,874.00	\$2.85	\$48,090.90
17	COLD MILL AC PAVEMENT (0 - 1-1/2")	102222	\$0.15	SF	\$15,333.30	\$0.12	\$12,266.64	\$0.11	\$11,244.42	\$0.10	\$10,222.20	\$0.10	\$10,222.20
18	COLD MILL AC PAVEMENT (> 1-1/2 - 3")	417225	\$0.30	SF	\$125,167.50	\$0.18	\$75,100.50	\$0.19	\$79,272.75	\$0.20	\$83,445.00	\$0.17	\$70,928.25
19	COLD MILL AC PAVEMENT (> 3")	292020	\$0.45	SF	\$131,409.00	\$0.18	\$52,563.60	\$0.24	\$70,084.80	\$0.25	\$73,005.00	\$0.21	\$61,324.20
20	AC PAVEMENT(PATCH BACK)	3	\$150.00	TON	\$450.00	\$500.00	\$1,500.00	\$659.00	\$1,977.00	\$550.00	\$1,650.00	\$1,000.00	\$3,000.00
21	RECONSTRUCT MANHOLE	74	\$1,000.00	EA	\$74,000.00	\$600.00	\$44,400.00	\$1,516.00	\$112,184.00	\$1,200.00	\$88,800.00	\$800.00	\$59,200.00
22	DOUBLE ADJUST MANHOLE	6	\$500.00	EA	\$3,000.00	\$400.00	\$2,400.00	\$617.00	\$3,702.00	\$1,000.00	\$6,000.00	\$625.00	\$3,750.00
23	ASPHALT RUBBER HOT MIX	7030	\$90.00	TON	\$632,700.00	\$80.00	\$562,400.00	\$93.50	\$657,305.00	\$95.00	\$667,850.00	\$72.00	\$506,160.00
24	ASPHALT RUBBER HOT MIX (TEST STRIP)	500	\$90.00	TON	\$45,000.00	\$90.00	\$45,000.00	\$100.00	\$50,000.00	\$125.00	\$62,500.00	\$100.00	\$50,000.00
25	COLD CENTRAL PLANT RECYCLED ASPHALT CONCRETE PAVEMENT (CCPRACP), 3" THICK	84372	\$6.00	SY	\$506,232.00	\$5.00	\$421,860.00	\$5.25	\$442,953.00	\$5.40	\$455,608.80	\$4.50	\$379,674.00
26	EMULSIFIED RECYCLING AGENT	457	\$700.00	TON	\$319,900.00	\$725.00	\$331,325.00	\$781.00	\$356,917.00	\$770.00	\$351,890.00	\$700.00	\$319,900.00
27	CONCRETE SLOUGH WALL	4	\$300.00	CY	\$1,200.00	\$1,000.00	\$4,000.00	\$1,840.00	\$7,360.00	\$2,500.00	\$10,000.00	\$1,000.00	\$4,000.00
28	PCC CURB & GUTTER, TYPE A2-6	61	\$20.00	LF	\$1,220.00	\$27.00	\$1,647.00	\$50.00	\$3,050.00	\$25.00	\$1,525.00	\$25.00	\$1,525.00
29	PCC CURB & GUTTER, TYPE A2-8	3350	\$20.00	LF	\$67,000.00	\$28.00	\$93,800.00	\$30.00	\$100,500.00	\$24.00	\$80,400.00	\$17.00	\$56,950.00
30	PCC CURB & GUTTER, TYPE A2-VAR	594	\$20.00	LF	\$11,880.00	\$27.00	\$16,038.00	\$34.00	\$20,196.00	\$40.00	\$23,760.00	\$18.00	\$10,692.00

Addenda: 0 Duration: 140 Working Day(s)

			Engineer's Estimate		(1) Gentry	(1) Gentry Brothers, Inc.		(2) Sully-Miller Contracting Company		(3) Los Angeles Engineering, Inc.		ontractors, Inc.	
(1) Pr	eliminary Bid Amount						\$4,208,250.74		\$4,422,555.47			\$4,499,110.45	
(2) Ur	iit Price Detail												
Item	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
31	PCC CURB & GUTTER, TYPE A3-8	115	\$20.00	LF	\$2,300.00	\$25.00	\$2,875.00	\$44.00	\$5,060.00	\$60.00	\$6,900.00	\$19.00	\$2,185.00
32	PCC WALK, DRIVES & CURB RAMPS, 4" THICK	16757	\$5.00	SF	\$83,785.00	\$3.75	\$62,838.75	\$5.00	\$83,785.00	\$7.00	\$117,299.00	\$7.00	\$117,299.00
33	DETECTABLE WARNING SURFACE	700	\$50.00	SF	\$35,000.00	\$30.00	\$21,000.00	\$35.00	\$24,500.00	\$25.00	\$17,500.00	\$35.00	\$24,500.00
34	CROSS GUTTER	341	\$250.00	CY	\$85,250.00	\$240.00	\$81,840.00	\$326.00	\$111,166.00	\$375.00	\$127,875.00	\$300.00	\$102,300.00
35	RIVER ROCK PAVING, 6" THICK	21728	\$10.00	SF	\$217,280.00	\$6.00	\$130,368.00	\$9.50	\$206,416.00	\$3.50	\$76,048.00	\$8.50	\$184,688.00
36	PERVIOUS CONCRETE, 6" THICK	33303	\$7.00	SF	\$233,121.00	\$4.25	\$141,537.75	\$4.50	\$149,863.50	\$4.00	\$133,212.00	\$5.50	\$183,166.50
37	NO. 3 CONCRETE AGGREGATE	617	\$50.00	CY	\$30,850.00	\$75.00	\$46,275.00	\$67.00	\$41,339.00	\$135.00	\$83,295.00	\$75.00	\$46,275.00
38	METAL HAND RAILINGS	76	\$150.00	LF	\$11,400.00	\$100.00	\$7,600.00	\$61.00	\$4,636.00	\$80.00	\$6,080.00	\$45.00	\$3,420.00
39	3" CONDUIT (SCH 80 PVC)	60	\$24.00	LF	\$1,440.00	\$62.00	\$3,720.00	\$90.00	\$5,400.00	\$80.00	\$4,800.00	\$80.00	\$4,800.00
40	12-CONDUCTOR SIGNAL CABLE(EXCLUDING CONDUIT)	510	\$2.80	LF	\$1,428.00	\$5.25	\$2,677.50	\$5.50	\$2,805.00	\$5.00	\$2,550.00	\$5.00	\$2,550.00
41	NO. 6 PULL BOX INCL PCC COVER	3	\$400.00	EA	\$1,200.00	\$650.00	\$1,950.00	\$730.00	\$2,190.00	\$600.00	\$1,800.00	\$600.00	\$1,800.00
42	INDUCTIVE LOOP DETECTOR AND LEADS SAW CUT	1500	\$6.90	LF	\$10,350.00	\$7.00	\$10,500.00	\$9.00	\$13,500.00	\$8.00	\$12,000.00	\$8.00	\$12,000.00
43	REMOVE PEDESTRIAN HEAD (COMPLETE)	1	\$50.00	EA	\$50.00	\$300.00	\$300.00	\$224.00	\$224.00	\$200.00	\$200.00	\$200.00	\$200.00
44	TYPE 15 STANDARD	1	\$900.00	EA	\$900.00	\$4,000.00	\$4,000.00	\$3,930.00	\$3,930.00	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00
45	TYPE 15 STANDARD FOUNDATION	1	\$1,700.00	EA	\$1,700.00	\$4,000.00	\$4,000.00	\$3,370.00	\$3,370.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
46	PEDESTRIAN PUSH BUTTON	2	\$100.00	EA	\$200.00	\$300.00	\$600.00	\$350.00	\$700.00	\$300.00	\$600.00	\$300.00	\$600.00
47	LED PEDESTRIAN HEAD (COMPLETE)	4	\$429.00	EA	\$1,716.00	\$1,125.00	\$4,500.00	\$786.00	\$3,144.00	\$750.00	\$3,000.00	\$1,000.00	\$4,000.00
48	FURNISH AND PLANT 24" BOX TREE	4	\$500.00	EA	\$2,000.00	\$320.00	\$1,280.00	\$505.00	\$2,020.00	\$630.00	\$2,520.00	\$1,000.00	\$4,000.00

			eer's Estimate	(1) Gentry Brothers, Inc.		(2) Sully-Miller Contracting Company				(4) Sequel Co	ontractors, Inc.		
(1) Pr	eliminary Bid Amount					:	\$4,208,250.74		\$4,422,555.47		\$4,423,864.00	\$4,499,110.45	
(2) Ur	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
49	LID-A, BIO-SWALE	38	\$9,040.00	EA	\$343,520.00	\$12,000.00	\$456,000.00	\$13,000.00	\$494,000.00	\$14,000.00	\$532,000.00	\$10,000.00	\$380,000.00
50	LID-B, INFILTRATION UNIT	2	\$3,665.00	EA	\$7,330.00	\$10,000.00	\$20,000.00	\$9,900.00	\$19,800.00	\$10,000.00	\$20,000.00	\$7,000.00	\$14,000.00
51	LANDSCAPING	1	\$38,157.00	LS	\$38,157.00	\$60,000.00	\$60,000.00	\$44,500.00	\$44,500.00	\$30,000.00	\$30,000.00	\$85,000.00	\$85,000.00
52	IRRIGATION SYSTEM	1 5	\$119,877.00	LS	\$119,877.00	\$130,000.00	\$130,000.00	\$111,000.00	\$111,000.00	\$125,000.00	\$125,000.00	\$95,000.00	\$95,000.00
53	PLANT ESTABLISHMENT PERIOD	1	\$7,000.00	LS	\$7,000.00	\$14,500.00	\$14,500.00	\$2,800.00	\$2,800.00	\$7,500.00	\$7,500.00	\$3,000.00	\$3,000.00
54	DETAIL 21 (THERMOPLASTIC)	20	\$2.00	LF	\$40.00	\$5.50	\$110.00	\$12.00	\$240.00	\$7.00	\$140.00	\$15.00	\$300.00
55	PAVEMENT MARKINGS (THERMOPLASTIC)	112	\$4.00	SF	\$448.00	\$6.50	\$728.00	\$11.00	\$1,232.00	\$8.00	\$896.00	\$15.00	\$1,680.00
56	12" STRIPING (THERMOPLASTIC)	375	\$2.50	LF	\$937.50	\$6.50	\$2,437.50	\$3.00	\$1,125.00	\$3.00	\$1,125.00	\$8.00	\$3,000.00
57	REMOVE 12" STRIPING (THERMOPLASTIC)	180	\$4.00	LF	\$720.00	\$3.25	\$585.00	\$3.00	\$540.00	\$3.00	\$540.00	\$5.00	\$900.00
58	REMOVE 24" STRIPING (THERMOPLASTIC)	450	\$8.00	LF	\$3,600.00	\$4.25	\$1,912.50	\$5.60	\$2,520.00	\$5.00	\$2,250.00	\$10.00	\$4,500.00
Unit F	Unit Price Total				\$4,101,388.80		\$4,208,250.74		\$4,422,555.47	\$4,423,864.00		\$4,499,110.45	
(3) Local Small Business Enterprise (LSBE) Preference Amount						\$0.00		\$0.00		\$0.00		\$0.00	
(4) LS	BE Adjusted Amount						\$4,208,250.74		\$4,422,555.47	\$4,423,864.00		\$4,499,110.45	
Comments				APPARENT	LOW BIDDER								

-4-



County of Los Angeles Department of Public Works Construction Division **BID SUMMARY** (sorted by Unit Price Total)

Project Name:Ballentine Place, Et AlProject ID:RDC0015528Bids Opened:10/28/2014Office Engineer:Joel Zaragoza 626-458-4973

			Engin	eer's Estimate	(5) Toro Enterprises, Inc.		(6) Excel Paving Company		(7) Hardy & Harper, Inc.		(8) All American Asphalt		
(1) Preliminary Bid Amount					\$4,715,082.97		\$4,722,971.00		\$4,987,000.00		\$5,141,245.00		
(2) Un	it Price Detail												
Item	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$5,000)	1	\$5,000.00	LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
2	CONSTRUCTION SCHEDULE (UPDATE)	6	\$500.00	MTH	\$3,000.00	\$650.00	\$3,900.00	\$1,000.00	\$6,000.00	\$100.00	\$600.00	\$500.00	\$3,000.00
3	PREPARATION OF THE SWPPP (STIPULATED UNIT PRICE OF \$5,000)	1	\$5,000.00	LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
4	IMPLEMENTATION OF THE SWPPP	1	\$15,000.00	LS	\$15,000.00	\$60,000.00	\$60,000.00	\$50,000.00	\$50,000.00	\$30,000.00	\$30,000.00	\$35,000.00	\$35,000.00
5	CITY PERMITS (ALLOWANCE OF \$5,000)	5000	\$1.00	AL	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
6	CLEARING AND GRUBBING	1	\$10,000.00	LS	\$10,000.00	\$30,000.00	\$30,000.00	\$76,000.00	\$76,000.00	\$177,000.00	\$177,000.00	\$150,000.00	\$150,000.00
7	TRAFFIC CONTROL	1	\$30,000.00	LS	\$30,000.00	\$93,000.00	\$93,000.00	\$50,000.00	\$50,000.00	\$96,367.86	\$96,367.86	\$100,000.00	\$100,000.00
8	OFFICE FACILITIES	1	\$30,000.00	LS	\$30,000.00	\$23,000.00	\$23,000.00	\$18,000.00	\$18,000.00	\$37,000.00	\$37,000.00	\$12,000.00	\$12,000.00
9	MOBILIZATION		\$100,000.00	LS	\$100,000.00	\$295,000.00	\$295,000.00	\$250,000.00	\$250,000.00	\$234,000.00	\$234,000.00	\$263,999.58	\$263,999.58
10	ROOT PRUNE TREE (INCL ROOT CONTROL BARRIER)	30	\$300.00	EA	\$9,000.00	\$400.00	\$12,000.00	\$430.00	\$12,900.00	\$500.00	\$15,000.00	\$425.00	\$12,750.00
11	CONCRETE REMOVAL (NON-REINFORCED)	688	\$100.00	CY	\$68,800.00	\$165.00	\$113,520.00	\$145.00	\$99,760.00	\$130.00	\$89,440.00	\$145.00	\$99,760.00
12	UNCLASSIFIED EXCAVATION	2802	\$40.00	CY	\$112,080.00	\$35.00	\$98,070.00	\$53.00	\$148,506.00	\$50.00	\$140,100.00	\$50.00	\$140,100.00
13	TRENCH BACKFILL SLURRY (CLASS 270-E-500)	3	\$300.00	CY	\$900.00	\$1,000.00	\$3,000.00	\$270.00	\$810.00	\$1,000.00	\$3,000.00	\$500.00	\$1,500.00

(7) Hardy & Harper, Inc. Engineer's Estimate (5) Toro Enterprises, Inc. (6) Excel Paving Company (8) All American Asphalt (1) Preliminary Bid Amount \$4,715.082.97 \$4.722.971.00 \$4.987.000.00 \$5.141.245.00 (2) Unit Price Detail Qty Unit Price Unit Unit Price Unit Price Unit Price Amount Unit Price Amount Description Amount Amount Amount Item CEMENT STABILIZED SY 14 84372 \$4.00 \$337,488.00 \$4.25 \$358,581.00 \$5.00 \$421,860.00 \$5.13 \$432,828.36 \$6.20 \$523,106.40 PULVERIZED BASE, 8" THICK PORTLAND CEMENT FOR \$197,400.00 \$225,365.00 \$197,400.00 15 1645 \$100.00 TON \$164,500.00 \$120.00 \$129.00 \$212,205.00 \$137.00 \$120.00 CSPB PRIME/TACK COAT FOR \$29,529.50 16 16874 \$1.75 GAL \$4.00 \$67,496.00 \$4.20 \$70.870.80 \$3.00 \$50.622.00 \$4.70 \$79.307.80 CSPB COLD MILL AC PAVEMENT SF \$16.355.52 17 102222 \$0.15 \$15,333.30 \$0.11 \$11.244.42 \$0.12 \$12,266.64 \$0.13 \$13,288.86 \$0.16 (0 - 1 - 1/2")COLD MILL AC PAVEMENT 18 417225 \$0.30 SF \$125,167.50 \$100,134.00 \$95,961.75 \$0.19 \$79,272.75 \$0.21 \$87,617.25 \$0.24 \$0.23 (> 1-1/2 - 3")19 COLD MILL AC PAVEMENT 292020 \$0.45 SF \$131.409.00 \$0.23 \$67.164.60 \$0.26 \$75.925.20 \$0.30 \$87.606.00 \$0.27 \$78.845.40 (> 3") 20 AC PAVEMENT(PATCH \$150.00 TON \$1,500.00 \$3,000.00 3 \$450.00 \$550.00 \$1.650.00 \$250.00 \$750.00 \$4.500.00 \$1.000.00 BACK) RECONSTRUCT MANHOLE \$1,000.00 \$74.000.00 \$1,250.00 \$92,500.00 \$70.300.00 \$1,000.00 \$74,000.00 \$1,900.00 \$140,600.00 21 74 EA \$950.00 ΕA 22 DOUBLE ADJUST MANHOLE 6 \$500.00 \$3.000.00 \$750.00 \$4.500.00 \$430.00 \$2.580.00 \$1.000.00 \$6.000.00 \$800.00 \$4.800.00 23 ASPHALT RUBBER HOT MIX 7030 \$90.00 TON \$632,700.00 \$83.50 \$587,005.00 \$83.90 \$589.817.00 \$86.00 \$604,580.00 \$80.00 \$562,400.00 24 ASPHALT RUBBER HOT MIX 500 \$90.00 TON \$45,000.00 \$85.00 \$42,500.00 \$96.00 \$48.000.00 \$86.00 \$43.000.00 \$80.00 \$40,000.00 (TEST STRIP) 25 COLD CENTRAL PLANT 84372 SY \$506,232.00 \$6.00 \$5.50 \$464,046.00 \$6.10 \$514,669.20 \$6.86 \$578,791.92 \$6.20 \$523,106.40 **RECYCLED ASPHALT** CONCRETE PAVEMENT (CCPRACP), 3" THICK 26 EMULSIFIED RECYCLING 457 \$700.00 TON \$319.900.00 \$730.00 \$333.610.00 \$772.00 \$352.804.00 \$777.00 \$355.089.00 \$725.00 \$331.325.00 AGENT 27 CONCRETE SLOUGH WALL 4 \$300.00 CY \$1,200.00 \$920.00 \$3,680.00 \$540.00 \$2,160.00 \$4,000.00 \$16,000.00 \$1,350.00 \$5,400.00 28 PCC CURB & GUTTER. 61 \$20.00 LF \$1,220.00 \$29.00 \$1,769.00 \$25.00 \$1,525.00 \$20.00 \$1,220.00 \$30.00 \$1,830.00 TYPE A2-6 29 PCC CURB & GUTTER, LF \$88,775.00 3350 \$20.00 \$67,000.00 \$26.50 \$88,775.00 \$25.00 \$83,750.00 \$21.00 \$70,350.00 \$26.50 TYPE A2-8 30 PCC CURB & GUTTER. 594 \$20.00 LF \$11,880.00 \$16,038.00 \$27.50 \$16,335.00 \$25.00 \$14,850.00 \$21.00 \$12,474.00 \$27.00 TYPE A2-VAR \$3,450.00 31 PCC CURB & GUTTER. 115 \$20.00 LF \$2,300.00 \$30.00 \$25.00 \$2.875.00 \$21.00 \$2.415.00 \$30.00 \$3.450.00 TYPE A3-8

(7) Hardy & Harper, Inc. Engineer's Estimate (5) Toro Enterprises, Inc. (6) Excel Paving Company (8) All American Asphalt (1) Preliminary Bid Amount \$4,715.082.97 \$4.722.971.00 \$4.987.000.00 \$5.141.245.00 (2) Unit Price Detail Qty Unit Price Unit Unit Price Unit Price Unit Price Unit Price Description Amount Amount Amount Amount Amount Item PCC WALK. DRIVES & SF 32 16757 \$5.00 \$83,785.00 \$4.35 \$72,892.95 \$4.60 \$77,082.20 \$4.00 \$67.028.00 \$6.30 \$105,569.10 CURB RAMPS, 4" THICK DETECTABLE WARNING SF 33 700 \$50.00 \$35,000.00 \$27.00 \$18,900.00 \$36.00 \$25,200.00 \$30.00 \$21,000.00 \$32.00 \$22,400.00 SURFACE CROSS GUTTER \$250.00 CY \$124,465.00 34 341 \$85,250.00 \$400.00 \$136,400.00 \$337.00 \$114,917.00 \$300.00 \$102,300.00 \$365.00 35 SF **RIVER ROCK PAVING, 6"** \$10.00 \$217,280.00 \$325,920.00 \$175,996.80 21728 \$9.50 \$206,416.00 \$8.40 \$182,515.20 \$15.00 \$8.10 THICK PERVIOUS CONCRETE, 6" \$233,121.00 \$7.50 \$249,772.50 \$6.90 \$229,790.70 \$291,401.25 36 33303 \$7.00 SF \$15.00 \$499.545.00 \$8.75 THICK NO. 3 CONCRETE 37 CY 617 \$50.00 \$30.850.00 \$65.00 \$40.105.00 \$157.00 \$96.869.00 \$200.00 \$123.400.00 \$140.00 \$86.380.00 AGGREGATE 38 METAL HAND RAILINGS 76 \$150.00 LF \$11,400.00 \$18,240.00 \$12,160.00 \$200.00 \$15,200.00 \$6,840.00 \$240.00 \$160.00 \$90.00 39 3" CONDUIT (SCH 80 PVC) \$6.000.00 60 \$24.00 LF \$1,440.00 \$84.00 \$5,040.00 \$86.00 \$5,160.00 \$100.00 \$83.00 \$4,980.00 LF \$2,550.00 \$2,550.00 \$2,550.00 **12-CONDUCTOR SIGNAL** 510 \$2.80 \$5.00 \$2,550.00 40 \$1,428.00 \$5.00 \$5.00 \$5.00 CABLE(EXCLUDING CONDUIT) NO. 6 PULL BOX INCL PCC ΕA \$1,200.00 \$685.00 \$2,055.00 \$700.00 \$2,100.00 41 3 \$400.00 \$700.00 \$2,100.00 \$700.00 \$2.100.00 COVER INDUCTIVE LOOP 42 1500 \$6.90 LF \$10.350.00 \$9.00 \$13.500.00 \$9.00 \$13.500.00 \$8.50 \$12,750.00 \$8.50 \$12,750.00 DETECTOR AND LEADS SAW CUT \$225.00 43 REMOVE PEDESTRIAN \$50.00 ΕA \$225.00 \$500.00 1 \$50.00 \$211.00 \$211.00 \$215.00 \$215.00 \$500.00 HEAD (COMPLETE) TYPE 15 STANDARD \$900.00 \$3,700.00 \$900.00 EA \$3.695.00 \$3.695.00 \$3.800.00 \$3.800.00 \$3,700.00 \$3.600.00 \$3.600.00 44 1 45 TYPE 15 STANDARD 1 \$1.700.00 EΑ \$1.700.00 \$3.165.00 \$3,165.00 \$3.200.00 \$3.200.00 \$3.200.00 \$3.200.00 \$3.100.00 \$3.100.00 FOUNDATION PEDESTRIAN PUSH \$600.00 46 2 \$100.00 EA \$200.00 \$295.00 \$590.00 \$300.00 \$600.00 \$300.00 \$600.00 \$300.00 BUTTON \$2,952.00 \$750.00 \$750.00 47 LED PEDESTRIAN HEAD \$429.00 ΕA \$1,716.00 \$738.00 \$750.00 \$3,000.00 \$3,000.00 \$3,000.00 4 (COMPLETE) 48 FURNISH AND PLANT 24" \$527.00 \$1,900.00 \$500.00 ΕA \$2,000.00 \$2,108.00 \$490.00 \$1,960.00 \$600.00 \$2,400.00 \$475.00 4 BOX TREE 49 LID-A. BIO-SWALE 38 \$9.040.00 EΑ \$343.520.00 \$15.000.00 \$570.000.00 \$12,500.00 \$475.000.00 \$2.400.00 \$91.200.00 \$15.000.00 \$570.000.00 50 LID-B. INFILTRATION UNIT 2 \$3,665.00 EΑ \$7,330.00 \$14.800.00 \$29.600.00 \$16,000.00 \$2,400.00 \$4,800.00 \$15,000.00 \$30,000.00 \$8.000.00 51 LANDSCAPING 1 \$38,157.00 LS \$38,157.00 \$50,100.00 \$50,100.00 \$44,000.00 \$44,000.00 \$45,000.00 \$45,000.00 \$40,000.00 \$40,000.00

Engineer's Estimate (5) Toro Enterprises, Inc. (7) Hardy & Harper, Inc. (6) Excel Paving Company (8) All American Asphalt (1) Preliminary Bid Amount \$4.715.082.97 \$4.722.971.00 \$4.987.000.00 \$5,141,245.00 (2) Unit Price Detail Description Qty Unit Price Unit Unit Price Amount Unit Price Amount Unit Price Amount Unit Price Amount Item Amount 1 \$119,877.00 LS \$111,000.00 \$107,000.00 \$107,000.00 \$123,000.00 \$123,000.00 52 **IRRIGATION SYSTEM** \$119,877.00 \$111,000.00 \$100,000.00 \$100,000.00 PLANT ESTABLISHMENT LS 53 \$7,000.00 \$3,165.00 \$3,300.00 \$5,000.00 \$2,500.00 1 \$7,000.00 \$3,165.00 \$3,300.00 \$5,000.00 \$2,500.00 PERIOD 54 DETAIL 21 20 \$2.00 LF \$40.00 \$10.50 \$210.00 \$280.00 \$15.00 \$300.00 \$5.00 \$100.00 \$14.00 (THERMOPLASTIC) \$4.00 SF 55 PAVEMENT MARKINGS 112 \$448.00 \$9.50 \$1,064.00 \$18.00 \$2,016.00 \$15.00 \$1,680.00 \$11.00 \$1,232.00 (THERMOPLASTIC) 375 \$2.50 \$937.50 \$2.65 \$993.75 \$9.00 \$3,375.00 \$10.00 \$3,750.00 \$4.00 \$1,500.00 56 12" STRIPING LF (THERMOPLASTIC) LF \$720.00 57 REMOVE 12" STRIPING 180 \$4.00 \$720.00 \$2.80 \$504.00 \$6.00 \$1.080.00 \$6.00 \$1.080.00 \$4.00 (THERMOPLASTIC) 58 **REMOVE 24" STRIPING** \$8.00 LF \$5.00 \$2,250.00 450 \$3,600.00 \$5.30 \$2,385.00 \$10.00 \$4,500.00 \$10.00 \$4,500.00 (THERMOPLASTIC) Unit Price Total \$4,101,388.80 \$4,715,082.97 \$4,722,971.19 \$4,987,000.00 \$5,141,245.00 (3) Local Small Business Enterprise (LSBE) Preference Amount \$0.00 \$0.00 \$0.00 \$0.00 \$4,715,082.97 \$4,987,000.00 \$4,722,971.19 \$5,141,245.00 (4) LSBE Adjusted Amount

Comments

-8-